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QUESTION 1

What describes a serious drawback in the early development of networks?
A. Computers were dedicated to one function.

B. Computers were too complicated to be connected.

C. There was low network speed.

D. Vendors developed their own network communication protocols.

Correct Answer: D

QUESTION 2

What is the benefit of replication of data center sites?
A. data protection

B. disaster recovery

C. extended data storage

D. increased response rate

Correct Answer: B

QUESTION 3

What is the international standard for IT Service Management processes?
A. 1SO 9001

B. 1ISO 14001

C. ISO/IEC 20000

D. ISO/IEC 27001

Correct Answer: C

QUESTION 4

A network protocol designed to provide strong authentication for client/server applications by using key cryptography.
Which protocol is described?

A. Extensive Messaging and Presence Protocol
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B. Kerberos protocol
C. Lightweight Directory Access Protocol
D. Transmission Control Protocol

Correct Answer: B

QUESTION 5

What is a driver for Cloud Computing?

A. It makes it easier to scale down IT resources.

B. It makes an organization less dependent on the network.
C. It allows organizations to invest in IT before it is needed.
D. It makes it easier to integrate with legacy software.

Correct Answer: A
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